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VB SRS R s
2021 & 4 H
JE® AE
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2.277 0.011 - 0.053 0.030 &
HH 1 1.512 0.000 - 0.448 0.084 =
F/LFE (HC)) 4.545 0.028 - 0.233 0.165 =
FbE (HF) 0.306 0.006 - 0.050 0.024 =
— &L (SO2) 15.147 0.004 - 3.942 2.222 s
—& kiR (CO) 7.578 0.000 - 0.244 0.094 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.893 - 6.476 1.527 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.018 - 0.037 0.030 &
LA 1 0.756 0.039 - 0.139 0.083 =
F/LFE (HC) 0.756 0.109 - 0.209 0.165 =
FIbE (HF) 0.072 0.013 - 0.035 0.024 =
—A/EWT (SO2) 3.789 1.652 - 2.398 2.213 =
—& kiR (CO) 3.789 0.015-0.163 0.094 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 1.153 - 2.201 1.528 pss
ETE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0011 e
BB ED 0.0378 <0.0049 &
IR R e ) 7.575 x 107 <5350 x 107 o
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VB SRS R s
2021 & 4 H
JE® AF
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.003 - 0.017 0.004 &
HH 1 1.512 0.005 - 0.395 0.070 =
F/LFE (HC)) 4.545 0.033 - 0.360 0.190 =
FbE (HF) 0.306 0.007 - 0.104 0.038 =
— &L (SO2) 15.147 0.004 - 7.525 2.296 s
—& kiR (CO) 7.578 0.015-0.282 0.098 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.863 - 6.792 1.544 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.003 - 0.005 0.004 &
LA 1 0.756 0.030 - 0.107 0.069 =
F/LFE (HC) 0.756 0.079 - 0.240 0.189 =
FIbE (HF) 0.072 0.021 - 0.048 0.038 =
—A/EWT (SO2) 3.789 2.176 - 2.460 2.296 =
—& kiR (CO) 3.789 0.072 - 0.175 0.098 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 1.129 - 2.435 1.548 &
ETE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0011 e
BB ED 0.0378 <0.0051 &
IR R e ) 7.575 x 107 <5.820 x 1071 o




75 e R BRI
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2021 & 4 H
JE® BE
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.002 - 0.014 0.004 &
HH 1 1.512 0.032-0.416 0.081 =
F/LFE (HC)) 4.545 0.015-0.193 0.138 =
FbE (HF) 0.306 0.008 - 0.066 0.035 =
— &L (SO2) 15.147 0.019 - 4.689 1.849 s
—& kiR (CO) 7.578 0.008 - 0.129 0.090 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.964 - 8.456 1.480 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.003 - 0.005 0.004 &
LA 1 0.756 0.059 - 0.115 0.081 =
F/LFE (HC) 0.756 0.094 - 0.160 0.138 =
FIbE (HF) 0.072 0.027 - 0.040 0.035 =
—A/EWT (SO2) 3.789 1.534-2.139 1.849 =
—& kiR (CO) 3.789 0.068 - 0.103 0.090 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 1.116 - 2.167 1.481 pss
ETE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0013 e
BB ED 0.0378 <0.0057 &
IR R e ) 7.575 x 107 <6.443 x 107 o
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